uosIeS 3p syni4
X adewolq
X X 21kd
X X X 2u0d 3p oy
X X sawngg| agejog
€207 94qW303p 8 Ip3ipusn
ajodwo)
X a8ewoly
pIeuFejuowWw
X X X X X
21181 ap awwod 8p upely
X X noyo apejes
€207 24qwia09p £ Ipnaf
X X X aws ejenoyy
X afewoly
X X 3l|ua]
X X X 3ne0q ap ayajnog
X X X aades ayjoie)
€20 24qw209p § pIew
ucsies ap sjn.4
X a8ewouy
X X 21y
X X X ucssiod ap upein
X X X X @8nol anelanag
€20 R1quadgp y Ipunj
X saBejie| }o safewol
X uleyd
X X anauBieuip
=2
= > e
T |25 B G S a 2 (g5 8 @ @ 5 =
g |s2| 2|z |35 | 2|2 |28/ |8 |5 |3|3
h mn o =] m m S = <
m “
—

SFUAIN Svday

SNNIN $31 SNVA LNINIYIVINOTOA SIN3ISI¥d SINIDYITIV S3Q IDVHIIILY




S)nJy ap apefes
X afewoly
X siod 338d
X X X a10d ap apejjun
X X X X eZZld
€Z0Z 2/qWI3d9p ST |paipuan
UOSIES 8P 1Ny
X a8ewoly
X X 1150y
X X X Jo8ing
X X sosodwod apejes
€202 21quiad9p 1 1pnaf
X X X sawwod xne aje|
X a8ewouq
X X oy
X X X X apuip ap aines
X X sawng3| adejod
£20C 24qW09P T Ipiew
Uos(es ap suni4
X afewo.
BlRUOqIED B] B 338
X X X BIRUOGJED 8| € 3184
X X X X apejnowal uajg)
£707 21qwiadgp 1T 1punj
X sagdeyie| )2 sadewoly
X uied
X X anaJdieuip
=
s o0
ElBE|l e 5|2 B B8kl |Es|s]ce
aggizggﬁﬁézags..g
m m w 3
-~
SIYAIN SYdIY

SNN3A S31 SNVA LNINIFYIVINOTOA SLN3S3¥d SINIDYITIV SIA IDVHIIIIY




120N 3p seday

€707 24qWad9p 7z Ipalpusn

uosies ap syini4

X 38ewolq
X aaind
X X X najq uopio)
X X X ayomp
£207 P4quiad9p 17 1pna|
X X Hassap aw)
X adewol4
X X X 3jed
X X X asieudojog e| e ajeq
X X X X augedwes ap aupua)
£20T 24qWad9p 6T Ipiew
uos|es ap sjinly4
XX a8ewoiy
X X z1Y
4.4 X X 2injeu 3jjpuanp
X X sawnga| ap adejod
£20Z 21quiad9p 8T |pun|
X sedelie| 19 sedewoly
X uled
X X anaJsieuIp
=4
= > o0
n 3 = o
(o] o o 2] = (0]
E Qc m E S 2 o S E i =] [o] 5 =
=23l | 2|3 |2 |2 |8g| 8|2 |2|%&8]|§
o lsg|l 2| 2| 3| 5| 8|83/ |& |5 )| 7|3
o > 3 o m ac = 2
m m w B
S~

SIYAI SYdIY

SNNIN 31 SNVA LNIWNIYIVINOTOA SINISIHd SINIDYITIV S3A IOVHIILAY




